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Homework Sheets

m No. 7a

)

B L R L RRTCRE, (; ho right of [l to the left of

(a)
(b)
(o)
(d)
(e)
(f)
(9
(h)
0]

The yacht is

The lighthouse is

The submarine is

The ship is

The shark is

The submarine is

The submarine is

The yacht is
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the shark.
the yacht.

the ship.

the ship.

the lighthouse.
the yacht.

the shark.

the aeroplane.

the Ship.



2. A doss seating plan is shown below.

4 Back
Ann
Ed
Paul
BLACKBOARD
\_ Front

Fill in the names of the class on to the plan using the following clues —

(a)
(b)
(0)
(d)
(e)

()

Mary sits behind Ed.
Jon sits to the left of Ed.

Ben sits behind Jon.

Amy sits to the right of Ed.

Asha sits to the right of Paul AND jn front of Amy.

Dee sits in the last seat.

Describe where Dee sits.

Answer : Dee sits

(Use behind, in front of, to the left of or to the right of.)
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Break The Code

6|N B E J P
5/ |C|R F S|
4 A G| X|W|O Q
3 S I|H U
2 D M| L
I T K V Y|Z
A B CDETFGHTI
Example Al D3 G2 E6
spells T | M
(a) Bredk the code -
G2 B4 Al E3 H5 D3 B3/ F5 H3 A6
(b) Break the code :—
D3 /B4 G2 /B5 H2 E6 H E6 C5

(c) Write your own name below using the code.

Code

Your
Name
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Break The Code

Remember :
5 .R AA ’O Along the'n up
eg. (2, 5)is A
8, DisP
4 lM
3 4E
\ C I H L
2 Q ? @ @ —@—
P
| '
ot ot >
0 | 2 3 4 5 6 7 8 19

(a) Break the code.

@2 [@5 G&f 22 @2 63) 2 G0 (©5)

(b) Write this message in co-ordinates code.

I L O V E S C H O O L
C,0C,)0,),),)

() On the grid at the top of this page, mark in the following letters :-

X2, 4) WG, 1) (7, 0) B(9, 4) F©, 3) K(0, 0)
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Remember :—

—
Coordinates — read across first, then up

The point (4,3)% (4 y 3) means
“
across 4 then up 3

DANGER ISLAND

P\
l \J Swpmp
N
) &3]
5
A ) —
Poison
3 Pond
2 Rort
Hear
|
0
0 | 2 3 4 5
4. Complete the coordinates :—
(a) Swamp (| 4, ) (b) Mineshaft (| )
() PortFear (| > ) (d) Poison Pond (| )
(e) Pirateship (|- ) (f) Shark (L )

5. Put these on the map above —

(a) X marks the treasure.  (8,)

(b) ‘ is a bomb. (6,5)

(©) {L is a snake pit.  (4,7)

() @ is a jelly fish.  (0,5)

Page N



Homework Sheets

Temperature EEEA

. Draw lines to match each thermometer to the correct picture.

SNOWMAN

2.  Write in the boxes the given temperatures.

(@ N (b) (0)

TR
NEETTEEEEEE

T

°C G

iC

ICE CUBE

(d)

°C

(e)

BODY
TEMPERATURE

lllllllll)

oB8E858833838

°C




Shade in each thermometer to show the tempercture given below.

() (9) (h) 0) ()

-180 {80 480 <480 480
170 {70 470 470 470
60 - 60 -4 60 4 60 460
-1°0 -50 - 50 450 450
40 40 4 40 H40 440
130 30 430 430 430
120 20 420 420 420
!0 10 410 410 410

0 O O O O

40°C q0°C 0°C 35°C 62°C

3. In each question below, draw a circle around the colder temperature.

example : — <5°C or ) (2°C is lower than 5°C)

(a) 8C or 3°C (b) 18°C or 9°C (c) 0°C or 2°C

(d) 4°C or -2°C (e) —°C or 3°C (f) —-4°C or I°C

4. Draw a circle around the highest temperature.

(a) 4°C, 5°C or 2°C (b) —3°C, I°C or -6°C (¢) -33°C, -34°C or
5. Use the thermometer on the right to help you answer these questions. [\

| 1 q
(a) Last night the tempercture in London was 4°C. : 573
The temperature rose by 2°C. It is now °G | ] g

- 4

- 3

(b) The temperature in Russia was —3°C. 4 2
-1

The temperature rose by 4°C, It is now °C|. . ?

{-2

-3

(d) The temperature in Iceland was —8°C. s
-5

The temperature rose by 14°C. It is now °C . -6

-7

- -8

(c) The temperoture in Canada was -5°C. - 'E)
The temperature fell by 6°C. It is now °C]. Q
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~ . Homework Sheets

You need a ruler for this homework !

. Use a ruler to measure these lengths (to the nearest cm) -

(9]

~3——)PD

am

(a) cm

2. In the space below, draw lines with the lengths shown —
(@) 9cm —» Start e—
b)) 2can —> ®---

© 4+cm —> o

3. Draw a rectangle in the space below which is 10 cm long and 3 cm broad.

Start @-----
here :

4. Draw a square where each Start
side measures 4 cm. art §

Page 3



5.

Write down the lengths of each pencil (to the nearest cm) -

(b)
—2 e I
I I 1 | I 11 | I 1 1 | ' I L r T 1 1 1 | I 1T 1
0 | 2 3 4 5 6 7 0|2345678qIO|II2I3I4
Centimetres RULER Centimetres RULER
cam am
(o) (d)
I 1 | L 1 | | | I 1 | | 1T 1T T 1 I | L |
0 2 4 6 8 10 12 14 8 12 16 20 24 28
Centimetres RULER Centimetres RULER
am cm
(e)

| |
0 2 A 6 8 10 12 4
Centimetres RULER RULER
cm cm
(g) (h) o
(Careful with this one !)
L (f (— ;o =y
| | | I | | | I [ | | I [ [ I [ |
0 2 4 6 8 0 12 14 6 I8 20 22 24 26 28 30 32
Centimetres RULER
cam am
G
l
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" Homework Sheets

Length No. 9c

I.  Write the following lengths in metres (m) -

(@) 158 cm = ©m (b) 252 cm = ©m
(© 186 cm = - m (d) KOcm= © m
(€) 200 cm = - m () 8 cm= ©m
(g) 8000 cm = - m (hy 52cm= © m
() 50000cm=| - m () 3 am= -+ m

2. Write the following Iengths in centimetres (cm) -

(a) 836m-= cm (b) 572m= R cm
() 505m-= cm (d 80Ilm-= cm
e 0dAm= | cm () 00km= cm
(@) 009m= cm (h) 020m= cm
@) 000 m = cm () 0000l m = cm
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This piece of string is 20 cm in length.
T TTTTTTTTTTITITITIITIITTIIITIITETIEITIITITIIIIITIITIIIE.
< ' —>
20 cm

3. Cdlculate the length of each piece of string (do not measure) -

(a) - 10 cm

4>
IlIIIllIIIIIIIHIIIIIIIIIIIIIIIIIIIIIIIIIIIlIlIIIIIIIHIIHIIﬂly

This piece of:string is cm long.
4 cm
< -t
(b) TP I I PP I I I P III Iy
3 cm 3cm
This piece of string is cm long.
2cm 2cm
(© 77 77T
C 7 ? { rd
/] This piece of strin
3cm f j p g
is cm long.

)

2cm 2cm

What do you notice about all the pieces of string above ?
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=~ Homework Sheets

Circle which measurement you think is closest —

(a) The length of a wasp’s wing is
(b) The length of a new pencil is
(c) The height of your bedroom is

(d) The length of your living room is

5 mm 2cm 10 cm
2cm 5anm I5 cm 40 cm
50 cm Im 3m I0m

I m 2m 7 m 50 m

(e) The distance from Glasgow to Edinburgh is | km 5m 80 km 1000 km

—» To change from metres to centimetres -

Remember — Metres

x 100

w

+ 100

Centimetres

<4 To change from centimetres to metres @—

Change the following to mor cm -

(a) 4m

4 x 100 = cm

(00 37m =| 37X = cm

(e) 200 cm =| 200 +

I
3

(g) 462 cm =
() 304m =
(k) 405cm =

(b) 8m =|8x = cm
(d 42Im =
(f) 900cm =
(h) 37 cm =
() o0m =
() 25am =
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(x 1000) (x 1000)
Remember :- Kilometre ——» metres and metres —— millimetres

Change the following from kilometres to metres or from metres to millimetres -

(@) 5km = m (b) 8km = m
() 52km = m (d) 30km = m
(e) 3m = mm (f) 2m = mm
(g IOm = mm (h) 02m = mm
i 32km = m () 25m = | mm
(a) Baby Ben can throw a ball 3-2 metres. Working space

He then kicks the ball 120 centimetres.

The ball has moved a total of cm |.

¢5cm

(b) A car aerial can be
extended as shown. 40 cm
1A
The aerial has a total
height of m].
I m
\/
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~ Homework Sheets T —

date due back .......cccceeevvunnninns
No. 11a .
1 (o[- > SN — score .......

(a) Which rectangle has the smallest area ?

(b) Which rectangle has the largest area ? _—

(c) Which rectangle has the second Iargest area ? -

. Write down the areas of these shaded shapes (in square c centimetres) : % = | square cm

\\

© V70 7 (b) %/ %/
y%//¢%4% ﬁf %g
. / — %
o //%//
area = square cm /A//%/%/%
area = square cm
7
. .
7 7 7 ©) T
%Z B Z;ZZV%% %if
%% %% 7 % / %// //

area = square cm area = square cm

n n "L
% / _

747 Y 7 %
. .
area = square cm area = square cm
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3. Write down the areas of these four shaded shapes (in square centimetres)

sq

% (d) . ///////////

\\\\\\\\%

.

7

&
()
o

ssssssss

sssssss

= % \\QQ |

eas of

.

aaaaaaaaaaaa

ssssssss




" " Homework Sheets

Areas UL

. Write down the areas of these shapes - ®)

/

(a) S

square centimetres

Area = square centimetres Area =

© | @

// 7
o,

Q\
NN

Area = square centimetres Area = square centimetres

. .

e = .
77, %%//,
. 7
. %%//

Z 4
Area = square centimetres Area = square centimetres
e W

. .

- 7

%é%%/ .
. o< J<
. .

Area = square centimetres Area = square centimetres

Brse N1



2. Estimate the areas of each of these shapes.
// count
i / this one

count when more than half a square is covered

do not

do not count when less than half a square is covered % ;‘;.Unt
is one

(a) (b)
e [ | LB
o e
f”” .
T
Area = square cm Area = .square cm
© e @ | @ \Q\\\\;\\
2L WHy: NmES
.. \\\\\\\\§
\@ NN
Area = square cm Area = square cm Area = square cm

(f)

228

// ’7% R %@é

A ey

Cir %%@%%%%/%%@W
. BA___EA |

Area = square cm
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2. Find the shaded area of each shape ( Remember
W

(a) (b)

\

%

2 Area is cm

Area is cm

N\ \

(o)

o

- =

Area is cm?

Estimate the shaded areas.  [count squares which are-more than /> covered]
[don’t count the ones less than half covered]

N\ &\@

W
(b)

i
%;E Z/
%%W/

]
_

N}

/
)
N

-

2 (b) Areais cm

(a) Areais cm
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4,

Find the areas of the following triangles.

(a) (b)
/’/
//
7 ~
<~
. 2
Area is cm? Area Is e
(o) (d)
%
S~ ; B :
\\ | :
i 1
! ;
: 2
Area is cm? Area is €m
Find the perimeter of each of the following triangles .
(a) (b)
8 cm 9 .cm 13 cm
5cm
0 om 12 cm
Perimeter is cm Perimeter is cm
() (d)
4m 7m
8m
|
I
Perimeter is m Perimeter is m
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- Homework Sheets

Volume [FERLE

Draw a circle around the object which takes
the following -

r

<9

Gloss
Paint
5 litres




5.

6.

Cola has been poured into each of the beakers shown below.

Write how many litres () are in each beaker -

(a)

(d)

b 5/
e 4]
— 3/

k¥ ]

-~

litres

e |0/
— 8/

litres

(b)

(e)

5/ -~

L
AL

litres

— 10! -
— 8!

litres

@ . 5/ -~
- 4

litres

(f) 5

— | |
3

litres

Three litres of cola is poured into each of the beakers shown below.
Draw a line on each beaker and colour in the cola.

(a)

(d)

’—-51
= 4]

= 3/
= 2]
= |/

-

e |/

— ']

= 1/5]

(b)

(e)

Y -

— 8/
— 61
— 4]
— 2/

Y -

Page 22
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— 3/

=2/

|/

(f)

10/

6/

3!



-~ Homework Sheets

Remember :—

I.  Find the volume of each of the shapes below -

(a) (b)
Volume is cm3
Volume is cm3
x 1000
Remember :- Litres millilitres (I litre = 1000 ml).
+ 1000
2. Change the following to litres (litre) or millilitres (ml) -
(a) 2litre = ml (b) 18 litre = ml
(c) 4000 ml = litre (d) 45000 ml = litre
(e) [I4litre = ml (f) O05litre = ml
(g9 800ml = litre (h) 100 ml = litre
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=" Homework Sheets

Equations 1 \CREE

no quculator

(a)

Il

()

€8 B8
B8 BEE

page Lt

(a)
+ £5 £8 %4-{_6:‘5”
é::g X= _
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2.

3.

Make up an equation for each balance and solve the equation.

Examples -

o

x=3

f%é\

J

(d)fE : :\
\___ W,

(9) ”
(& 3

v

(h)

James thought of a number.

()

0)

PROBLEM !!
He multiplied it by 7.
His answer was 2l.
James had been thinking of the number
working
(if needed)
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~* Homework Sheets

Equations 2 [R3ELS

Example

3 strawb_erries = 3s

/ 3 boxes + 2 boxes

use “s” to stand for strawberry 3b+2b =5b

b

use “b” to stand for box

(b)

(d)

(e) (f)

3 roses + 2 roses = 8 screws + 5 screws =

Page 1(3



2. Tidy up the following -

() 2a+3a= (b) 4b+8b=
(0 2c+c= (d 5d-2d=
(e) 8e-6e-= (f) 5f-4f=
(9) I5g +8g = (h) 22h+9h=
0 19k -k = ()  42j-37j=

Remember :— %‘.. =x+3

3. How many coins are in each of the following :-

& o

= (d) '

© 00 =

LIS

B T 5
%&. o

4,  Problem !! | have a bag of sweets. | give 4 sweets to John. %
| have 5 sweets left in the bag.

How many sweets did | have in the bag to begin with ?

Working
(if needed)
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